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Solved Examples

1. Madhre is standing in the middle of a bridge which is
20 m above the water level of a river. If a 35 m deep river
is lowing under the bridge (see Fig. 1.1), then the vertical

distance between the foot of Madhre and bottom level


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_wZQqPXoi5kFf

of the river is:

B.35m

C.20m

D.15m

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_wZQqPXoi5kFf

2.[(—10) x (—9)] + ( — 10) is equal to

A.100
B. —100
C.—80

D. 80

Answer: B

o Watch Video Solution

3.—16 + ( —4) is equal to


https://dl.doubtnut.com/l/_wZQqPXoi5kFf
https://dl.doubtnut.com/l/_zisLhSFpdc7p
https://dl.doubtnut.com/l/_dCW8XLKUGznu

B.1

C.4

Answer: C

° Watch Video Solution

4.—(25) x 30 = — 30 x

° Watch Video Solution

575+ =75


https://dl.doubtnut.com/l/_dCW8XLKUGznu
https://dl.doubtnut.com/l/_hFE7qkLjVZtH
https://dl.doubtnut.com/l/_KsiYG4JnGDUy

° Watch Video Solution

6.(—5) x (—T7)issameas (7) x ( — 5)

° Watch Video Solution

7.( — 80) + (4) is not same as 80 + ( — 4)

° Watch Video Solution

8. Find the odd one out of the four options in the

following:

A. (-2,24)


https://dl.doubtnut.com/l/_KsiYG4JnGDUy
https://dl.doubtnut.com/l/_oEE8TVN1YrJz
https://dl.doubtnut.com/l/_MEdRJCqdaaWk
https://dl.doubtnut.com/l/_UmSPRn0XDZ2B

B. (-3,10)

C.(-4,2)

D. (-6,8)

Answer: B

o Watch Video Solution

9.Find the odd one out of the four options given below:

A. (-3, -6)
B. (+1, -10)
C.(-2,-7)

D. (-4, -9)



https://dl.doubtnut.com/l/_UmSPRn0XDZ2B
https://dl.doubtnut.com/l/_kzlqc0i4g8nx

Answer: D

° Watch Video Solution

10. Match the integer in Column | to an integer in

Column Il so that the sum is between -11 and -4

ColumnI Column IT

A 6 —11

5 ColumnI Column II
+1 -5

c ColumnI Column II
+7 +1

5 ColumnI Column II
—2 —13

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_kzlqc0i4g8nx
https://dl.doubtnut.com/l/_TcrWf6i5HSFo

1. If a is an integer other than 1 and -1, match the

following:

o Watch Video Solution

12. Write a pair of integers whose sum is zero (0) but

difference is 10.

o Watch Video Solution

13. Write two integers which are smaller than -3, but

their difference is greater than -3.

.Y l


https://dl.doubtnut.com/l/_TcrWf6i5HSFo
https://dl.doubtnut.com/l/_mWybCRppj3XM
https://dl.doubtnut.com/l/_ez9PkizlHvlE
https://dl.doubtnut.com/l/_Xm9EdZ2t4zrx
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14. Write a pair of integers whose product is - 15 and

whose difference is 8

o Watch Video Solution

15.If A is an operation such that for integers a and b we
have aAb=a X a+ b x b—a x b, then find ( — 3)A

2.

o Watch Video Solution



https://dl.doubtnut.com/l/_Xm9EdZ2t4zrx
https://dl.doubtnut.com/l/_G9lEUWlb58wF
https://dl.doubtnut.com/l/_vOB9kgxNtXd9

16. In an objective type test containing 25 questions. A
student is to be awarded +5 marks for every correct
answer, -5 for every incorrect answer and zero for not
writing any answer. Mention the ways of scoring 110

marks by a student

° Watch Video Solution

17. A boy standing on the third stair on a staircase goes
up by five more stairs. Which stair is he standing at
now? At which step will he be after he comes down by 2

stairs?

o Watch Video Solution



https://dl.doubtnut.com/l/_JBGLFxz81hVW
https://dl.doubtnut.com/l/_rx7pZmxCC9BC

1. When the integers 10, O, 5, - 5, — 7 are arranged in
descending or ascending order, them find out which of
the following integers always remains in the middle of
the arrangement

A.O

B.5

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_8zHN6ZTddqls

2.By observing the number line (Fig. 1.2), state which of

the following statements is not true.

T

111 10
{]

A. B is greater than -10
B. Ais greater than O
C.B is greater than A

D. B is smaller than O

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_8zHN6ZTddqls
https://dl.doubtnut.com/l/_adGXeS2kE8Pi
https://dl.doubtnut.com/l/_ji2dzI53dbnt

3. By observing the above number line (Fig. 1.2), state

which of the following statements is true.

A.Bis 2

B.Ais -4

C.Bis-13

D.Bis -4

Answer:

° Watch Video Solution

4. Next three consecutive numbers in the pattern 11, 8, 5,

2,-,—,—-are


https://dl.doubtnut.com/l/_ji2dzI53dbnt
https://dl.doubtnut.com/l/_nXEZP9lxmkVi

A.0,-3,-6

B.—1,-5,-8

C.—2,-5,-8

D.—1,—-4,-7
Answer:

° Watch Video Solution

5. The next number in the pattern - 62, - 37, - 12

is

A. 25

B.13


https://dl.doubtnut.com/l/_nXEZP9lxmkVi
https://dl.doubtnut.com/l/_amcGXBFmSj6o

C.O

D.—13

Answer:

° Watch Video Solution

6. Which of the following statements is not true?

A. When two positive integers are added, we always

get a positive integer.

B. When two negative integers are added we always

get a negative integer.


https://dl.doubtnut.com/l/_amcGXBFmSj6o
https://dl.doubtnut.com/l/_RCcE09KC6GEy

C. When a positive integer and a negative integer is

added we always get a negative integer

D. Additive inverse of an integer 2 is (- 2) and

additive inverse of ( - 2) is 2.

Answer:

° Watch Video Solution

7.0n the following number line value Zero’ is shown by

the point.



https://dl.doubtnut.com/l/_RCcE09KC6GEy
https://dl.doubtnut.com/l/_vEtY2Pcm34SE

A X

B.Y

C.zZ

D.W

Answer:

° Watch Video Solution

8. If represent some integers on number line, then

descending order of these numbers is

O O
| 1
| r

—
w


https://dl.doubtnut.com/l/_vEtY2Pcm34SE
https://dl.doubtnut.com/l/_D5hsbUBy0kH9

. &

A ’ FGI‘D
E.-‘-. v . -~
0.0,8, =

C.

l:'lr 'TEFE

Answer:

o Watch Video Solution

9. On the number line, the value of (—3) x 3 lies on

right hand side of

A —8



https://dl.doubtnut.com/l/_D5hsbUBy0kH9
https://dl.doubtnut.com/l/_YeqfI0R34euE

C.0

D.9

Answer:

° Watch Video Solution

10. The value of 5 + (— 1) does not lie between

A.0Oand -10
B.0 and 10
C.—4 and —15

D.—6 and 6


https://dl.doubtnut.com/l/_YeqfI0R34euE
https://dl.doubtnut.com/l/_hVmysJRGFArw

Answer:

o Watch Video Solution

11. Water level in a well was 20m below ground level.
During rainy season, rain water collected in different
water tanks was drained into the well and the water
level rises 5 m above the previous level. The wall of the
well is Im 20 cm high and a pulley is fixed at a height of
80 cm. Raghu wants to draw water from the well. The

minimum length of the rope that he can use is

A 17 m

B.18 m


https://dl.doubtnut.com/l/_hVmysJRGFArw
https://dl.doubtnut.com/l/_rPXBAZm6veI8

C.96 m

D.97 m

Answer:

o Watch Video Solution

12. ( — 11) x 7is not equal to

All x (—=17)
B.— (11 x 7)
C(—-11) x (=7

D.7 x ( — 11)


https://dl.doubtnut.com/l/_rPXBAZm6veI8
https://dl.doubtnut.com/l/_S9BFIogAF5cm

Answer:

° Watch Video Solution

13.( —10) x (5) + ( — 7) is equal to

A. — 57
B.57
C.—43

D. 43

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_S9BFIogAF5cm
https://dl.doubtnut.com/l/_sLLFBBtVpiEq
https://dl.doubtnut.com/l/_EZKiHNjijl0j

14. Which of the folllowing is not the additive inverse of

a’?
A—(—a)
B.ax (—1)
C.—a
D.a+(—1)
Answer:

o Watch Video Solution

15. Which of the following is the multiplicative identity

for an integer a ?


https://dl.doubtnut.com/l/_EZKiHNjijl0j
https://dl.doubtnut.com/l/_YMFxVzYg2hUb

B.1

C.O

Answer:

° Watch Video Solution

16.[( — 8) x ( — 3)] x ( — 4) is not equal to

A(=8) x[(=3) x(—4)]

B.[(=8) x (—=4)] x(-3)
CI(=3)x(=8)]x(-4)


https://dl.doubtnut.com/l/_YMFxVzYg2hUb
https://dl.doubtnut.com/l/_PKlcHxfXzH0L

D.(—8) x(—3)—(—8) x(—4)

Answer:

° Watch Video Solution

17.( — 25) x [6 + 4) is not same as

A (— 25) x 10
B.(—25) x 6+ (—25) x 4
C.(—25)x6x4

D. —250

Answer:



https://dl.doubtnut.com/l/_PKlcHxfXzH0L
https://dl.doubtnut.com/l/_nnPF3RM5gE3x

| ¥ Vvvatch video soiution

18. — 35 x 107 is not same as

A.—35 x (100 + 7)
B.(—35) x 7+ ( —35) x 100
C.—35 x 74 100

D.(—30—5) x 107

Answer:

o Watch Video Solution

19. —(43) x ( — 99) + 43 is equal to


https://dl.doubtnut.com/l/_nnPF3RM5gE3x
https://dl.doubtnut.com/l/_b8IlzdHYQN7G
https://dl.doubtnut.com/l/_MTX0waIbXO1V

A. 4300

B. —4300

C. 4257

D. —4214

Answer:

° Watch Video Solution

20.( — 16) + 4 is not same as

A (—4) =16

B. — (16 + 4)

C.16 = ( —4)


https://dl.doubtnut.com/l/_MTX0waIbXO1V
https://dl.doubtnut.com/l/_jfcMFFmDaZkB

Answer:

° Watch Video Solution

21. Which of the following does not represent an

integer?
A0+~ (-7
B.20 + ( — 4)
C(—9 =3
D.(—12) +5

Answer:


https://dl.doubtnut.com/l/_jfcMFFmDaZkB
https://dl.doubtnut.com/l/_okB2ZEYNpmxQ

° Watch Video Solution

22. Which of the following is different from the others?

A.20 + ( -25)
B.(-37)-(-32)
C.(—5) x(—1)

D.(45) ~ ( —9)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_okB2ZEYNpmxQ
https://dl.doubtnut.com/l/_Az68P6qLhEkB

23. Which of the following shows the maximum rise in

temperature?

A.23°t032°

B.—10°to 4+ 1°

C.18°to — 11°

D. —5°t05°

Answer:

o Watch Video Solution

24. If a and b are two integers, then which of the

following may not be an integer?


https://dl.doubtnut.com/l/_nOa6SXG2ONJn
https://dl.doubtnut.com/l/_fxYztLDSBMgJ

A. a+b

B.a-b

C.axb

D.a +b

Answer:

° Watch Video Solution

25.For a non-zero integer a which of the following is not

defined?

Aa-=0

B.O-a


https://dl.doubtnut.com/l/_fxYztLDSBMgJ
https://dl.doubtnut.com/l/_OCcrTmRnNymA

Ca-—+1

D.1+a

Answer: A

o Watch Video Solution

26. Encircle the odd one of the following

A.(-3,3)

B.(-5,5)

C.(-6,1)

D. (-8, 8)


https://dl.doubtnut.com/l/_OCcrTmRnNymA
https://dl.doubtnut.com/l/_WDVTWxGkp9ZJ

Answer:

° Watch Video Solution

27. Encircle the odd one of the following

A (-1,-2)
B. (-5, +2)
C. (-4, +1)

D. (-9, +7)

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_WDVTWxGkp9ZJ
https://dl.doubtnut.com/l/_3Imes0U2SsoE
https://dl.doubtnut.com/l/_T3aSNaTGHu8G

28. Encircle the odd one of the following

A(—9) xb5x6x(—3)

B.(9x (—5)x6x(—23)

C(—9) x(—5zX(—6)x3

D.O9X(—5)x(—6)x3

Answer:

o Watch Video Solution

29. Encircle the odd one of the following

A.(—100) =5


https://dl.doubtnut.com/l/_T3aSNaTGHu8G
https://dl.doubtnut.com/l/_zG88T7o8LzeG

B.—(81) + 9

C.( — 75) =5
D.(—32)+9
Answer:

o Watch Video Solution

30. Encircle the odd one of the following

A(—1) x(-1)

B.(—1)x (—1)x(—1)

C(—Dx(—1)x(-1)x(-1)


https://dl.doubtnut.com/l/_zG88T7o8LzeG
https://dl.doubtnut.com/l/_kL0w5mouhRY7

(1) x (1) x(~1)x (1) x(~1)x (-1

Answer:

o Watch Video Solution

31.( —a) + b = b+ additive inverser of _

° Watch Video Solution

32. ~(—-10)0=0

° Watch Video Solution



https://dl.doubtnut.com/l/_kL0w5mouhRY7
https://dl.doubtnut.com/l/_KER1lPNClYH4
https://dl.doubtnut.com/l/_aceKQRuglflH

33.( — 157) x ( — 19) + 157 =

o Watch Video Solution

34.[(—-8) + ]+ = +[(-3)+ ]=-3

o Watch Video Solution

35. On the following number line, (—4) x 3 is

represented by the point _

SN N N T T A I I

o Watch Video Solution



https://dl.doubtnut.com/l/_osPimt1e0wfn
https://dl.doubtnut.com/l/_22uNMTU4dMdN
https://dl.doubtnut.com/l/_9epw2TZezeQ8
https://dl.doubtnut.com/l/_VDqI7ZQZrx9j

36. If x, y and z are integers then (:1:+ )+z= +

(y+__ )

o Watch Video Solution

37.(-43) =-43

o Watch Video Solution

38.(~8)+ (-8 + (-8 =__x(-8)

o Watch Video Solution



https://dl.doubtnut.com/l/_VDqI7ZQZrx9j
https://dl.doubtnut.com/l/_t7Sf7vemUhqx
https://dl.doubtnut.com/l/_WIFJtcQkAisl

30.11x (—5) = —(__x__ )=

o Watch Video Solution

40.( —9) x 20 =

o Watch Video Solution

41.( — 23) x (42) = (— 42) x

o Watch Video Solution



https://dl.doubtnut.com/l/_tb1JoSYscZXw
https://dl.doubtnut.com/l/_GxvC2MjaaooC
https://dl.doubtnut.com/l/_wL5xedcYJaEq

42. While multiplying a positive integer and a negative

integer, we multiply them as numbers and put a

sign before the product.

° Watch Video Solution

43. If we multiply number of negative integers,

then the resulting integer is positive

° Watch Video Solution

44. If we multiply six negative integers and six positive

integers, then the resulting integer is

e ]


https://dl.doubtnut.com/l/_x1rwiVx6JW9B
https://dl.doubtnut.com/l/_urGkEc5TbhX6
https://dl.doubtnut.com/l/_3bXtEcAj5bwT

| ¥ Vvatch video Solution |

45. If we multiply five positive integers and one negative

integer, then the resulting integer is

o Watch Video Solution

46. is the multiplicative identity for integers.

o Watch Video Solution

47. We get additive inverse of an integer a when we

multiply it by

[ o Watch Video Solution


https://dl.doubtnut.com/l/_3bXtEcAj5bwT
https://dl.doubtnut.com/l/_H7N4w1Hy8mCm
https://dl.doubtnut.com/l/_bmfMItHhmaff
https://dl.doubtnut.com/l/_LBULXhJ00FJL

48.( — 25) x (—2) =

° Watch Video Solution

49.( —5) x(—6) x (=17 =

° Watch Video Solution

50.3 x (—1) x (—15) =

° Watch Video Solution



https://dl.doubtnut.com/l/_LBULXhJ00FJL
https://dl.doubtnut.com/l/_AHhTiwohCSko
https://dl.doubtnut.com/l/_QUjLAFhrrhXo
https://dl.doubtnut.com/l/_9jZEzcvI7WME

51.[(12) x ( — 7)] x 5=

o Watch Video Solution

52. 23 x (—99) = _

+23 x _

X (—100+ _ )=23 x _

o Watch Video Solution

o Watch Video Solution



https://dl.doubtnut.com/l/_38ppBWr2V9bG
https://dl.doubtnut.com/l/_alnMzJ2lAmUY
https://dl.doubtnut.com/l/_PyqbTEh0oguo

54, x (—1) =47

o Watch Video Solution

o Watch Video Solution

56. x (—93) = 93

o Watch Video Solution



https://dl.doubtnut.com/l/_CcNBA6Y9syd6
https://dl.doubtnut.com/l/_OStZswqMjBuO
https://dl.doubtnut.com/l/_11ivY08Vil8Y

57.fill in the blank to make the statement true.

(—40) x =80

o Watch Video Solution

58, x (—23) = — 920

o Watch Video Solution

59.fill in the blank to make the statement true.
When we divide a negative integer by a positive integer,
we divide them as whole numbers and put a

before quotient.

e ]


https://dl.doubtnut.com/l/_31cX8ZxFWdG4
https://dl.doubtnut.com/l/_AQ1zjo876cHY
https://dl.doubtnut.com/l/_9fthYrUh7UiI

| ¥ Vvatch video Solution

60. fill in the blank to make the statement true.

When -16 is divided by the quotient is 4.

o Watch Video Solution

61. Division as the inverse of multiplication

o Watch Video Solution

62.65 ~ (— 13) =

o Watch Video Solution



https://dl.doubtnut.com/l/_9fthYrUh7UiI
https://dl.doubtnut.com/l/_r2z3fPb6Ftdk
https://dl.doubtnut.com/l/_7bXizN6AafV0
https://dl.doubtnut.com/l/_gvGUDDz5hRfL

63.( — 100) = ( — 10) =

o Watch Video Solution

64.( — 225) = 5 =

o Watch Video Solution



https://dl.doubtnut.com/l/_mMMCuaBAX28P
https://dl.doubtnut.com/l/_8dO6kOV6h5mm
https://dl.doubtnut.com/l/_TjpW0Mu6Aydj
https://dl.doubtnut.com/l/_P2gg4f3YjGUK

l ° Watch Video Solution

6751+ = —51

° Watch Video Solution

68.113 ~ =1

° Watch Video Solution

o Watch Video Solution



https://dl.doubtnut.com/l/_P2gg4f3YjGUK
https://dl.doubtnut.com/l/_EII3EouSgDua
https://dl.doubtnut.com/l/_kSZb81ZeTwu7
https://dl.doubtnut.com/l/_1a1MxlfYLMnp
https://dl.doubtnut.com/l/_Wir3kuzLsr6i

70.( — 69) = (69) =

° Watch Video Solution

° Watch Video Solution

72.5 - (-8)is same as 5 + 8.

° Watch Video Solution

73.(- 9) + (- 11) is greater than (- 9) - ( - 11).



https://dl.doubtnut.com/l/_Wir3kuzLsr6i
https://dl.doubtnut.com/l/_7FiGY9cEt5Sa
https://dl.doubtnut.com/l/_u8vGKNqLZejz
https://dl.doubtnut.com/l/_cFKo4J4cBh6W

[ W Watch Video Solution ]

74.Sum of two negative integers always gives a number

smaller than both the integers.

o Watch Video Solution

75. Difference of two negative integers cannot be a

positive integer.

o Watch Video Solution

76. State True or false :We can write a pair of integers

whose sum is not an integer.


https://dl.doubtnut.com/l/_cFKo4J4cBh6W
https://dl.doubtnut.com/l/_qkbtOEq1TuPL
https://dl.doubtnut.com/l/_LdZJJn9z4jc9
https://dl.doubtnut.com/l/_azalFMlOOWUs

° Watch Video Solution

77. Integers are closed under subtraction.

° Watch Video Solution

78. (- 23) + 47 is same as 47 + (- 23).

° Watch Video Solution

79. When we change the order of integers, their sum

remains the same.

° Watch Video Solution



https://dl.doubtnut.com/l/_azalFMlOOWUs
https://dl.doubtnut.com/l/_ioEfnurAEtax
https://dl.doubtnut.com/l/_f6Sn0t3P5e64
https://dl.doubtnut.com/l/_nqtuMWiTmPjU

80. When we change the order of integers their

difference remains the same.

o Watch Video Solution

81. Going 500 m towards east first and then 200 m back
is same as going 200 m towards west .Find the

displacement.

o Watch Video Solution

82. State whether the statements are true or false

(—5)x(33) =5x(—33)


https://dl.doubtnut.com/l/_nqtuMWiTmPjU
https://dl.doubtnut.com/l/_dlAIhU8S9vmP
https://dl.doubtnut.com/l/_RibZIJqGfshj
https://dl.doubtnut.com/l/_tONDKmkCZI2Z

° Watch Video Solution

83. State whether the statements are true or false

(—19) x (—11) =19 x 11

° Watch Video Solution

84. State whether the statements are true or false

(—20) x (5—3) = (—20) x (—2)

° Watch Video Solution



https://dl.doubtnut.com/l/_tONDKmkCZI2Z
https://dl.doubtnut.com/l/_7z2KG6rwKXA2
https://dl.doubtnut.com/l/_GDsYaaPmgwGL

85. State whether the statements are true or false

4x(—=5)=(—-10) x (—2)

o Watch Video Solution

86. State whether the statements are true or false

(1) x(—2)x(—3)=1x2x3

A—-3x3=—12—(—23)

Answer:


https://dl.doubtnut.com/l/_TjNh5lPchJFb
https://dl.doubtnut.com/l/_nFpJ0XgehsuD

° Watch Video Solution

87. State whether the statements are true or false

—3x3= —-12-3

° Watch Video Solution

88. Product of two negative integers is a negative

integer. True or false.

° Watch Video Solution



https://dl.doubtnut.com/l/_nFpJ0XgehsuD
https://dl.doubtnut.com/l/_68WO3s4sFBs0
https://dl.doubtnut.com/l/_OOHUIjtcslrK

89. Product of three negative integers is a negative

integer. True or false.

o Watch Video Solution

90. Product of a negative integer and a positive integer

Is a positive integer

o Watch Video Solution

91. State True or false : When we multiply two integers

their product is always greater than both the integers.

° Watch Video Solution



https://dl.doubtnut.com/l/_fjCQaZB88t4s
https://dl.doubtnut.com/l/_906zh6B05zda
https://dl.doubtnut.com/l/_9YATiL4NX5lR

92. Integers are closed under multiplication.

o Watch Video Solution

93.( — 237) x Oissameas 0 x ( — 39)

o Watch Video Solution

94. Multiplication is not commutative for integers.

° Watch Video Solution



https://dl.doubtnut.com/l/_9YATiL4NX5lR
https://dl.doubtnut.com/l/_SVJ8bhMT5qBQ
https://dl.doubtnut.com/l/_sP6DDM2bxBtu
https://dl.doubtnut.com/l/_w8y7wp3OyjZv

95. (-1) is not a multiplicative identity of integers.

o Watch Video Solution

96. State True or false 99 x 101 can be written as

(100 — 1) x (100 + 1)

o Watch Video Solution

97. If a, b, c are integers and b # 0 then

a X (b—c)=axb—a X cistrue or false.

o Watch Video Solution



https://dl.doubtnut.com/l/_jcejI8UHLm6X
https://dl.doubtnut.com/l/_NoVrQ2at0AKp
https://dl.doubtnut.com/l/_Ho6gABAzDNO9
https://dl.doubtnut.com/l/_UF3V6hNLaY1X

98. State whether the statements are true or false

(a+b) xc=axc+axb

o Watch Video Solution

99, State whether the statements are true or false

axXxb=bxa

o Watch Video Solution

100. State whether the statements are true or false

a~-a="b=x+a

o Watch Video Solution



https://dl.doubtnut.com/l/_UF3V6hNLaY1X
https://dl.doubtnut.com/l/_1W4DMeGgnSaL
https://dl.doubtnut.com/l/_KjTpwKoz67GM

101. State whether the statements are true or false

a—b=b-a

o Watch Video Solution

102. State whether the statements are true or false

a+(—b = —(a+Db)

° Watch Video Solution

103.a+(—-1)= —a

o Watch Video Solution



https://dl.doubtnut.com/l/_wOQqj8U6VY4d
https://dl.doubtnut.com/l/_ythdkAdkdQKr
https://dl.doubtnut.com/l/_8hzvccXTlgN6
https://dl.doubtnut.com/l/_VzoPyM7yYoCd

104. Multiplication fact ( — 8) x ( — 10) = 80 is same

as division fact 80 + ( — 8) = ( — 10)

o Watch Video Solution

105. Integers are closed under division.

o Watch Video Solution

106. State whether the statements are true or false

[(—32) -8 +2= —32+[8+2

o Watch Video Solution



https://dl.doubtnut.com/l/_VzoPyM7yYoCd
https://dl.doubtnut.com/l/_STIcIbUt5ZSG
https://dl.doubtnut.com/l/_Clh061lCZrQ5
https://dl.doubtnut.com/l/_oM7ZlQJQlMRo

107. State True or False :The sum of an integer and its

additive inverse is zero (0).

o Watch Video Solution

108. The successor of 0 x ( — 25) is 1 x ( — 25)

o Watch Video Solution

109. Observe the following patterns and fill in the blanks
to make the statements true:

—bx4= —-20

—5x3=—-15= —20—( —5)

—5x2= = — 15— (—5)


https://dl.doubtnut.com/l/_oM7ZlQJQlMRo
https://dl.doubtnut.com/l/_q26Ov4hOOG7k
https://dl.doubtnut.com/l/_GuMRczlTdKrY

—5x0=0=___
—5x —1=56=____
-5 X — 2= =

° Watch Video Solution

110. Observe the following patterns and fill in the blanks

to make the statements true:

7 x4 =28
7Tx3=_ =28-7
7Tx 2= = -7
Tx1=7=__ -7
7Tx0= = -



https://dl.doubtnut.com/l/_GuMRczlTdKrY
https://dl.doubtnut.com/l/_iahplhGmgOVj

7TX —2=

7Tx —3=

o Watch Video Solution

11. An atom consists of charged particles called
electrons and protons. Each proton has a charge of +1
and each electron has a charge of -1. Remember number
of electrons is equal to number of protons, while
answering these questions:

What is the charge on an atom?

° Watch Video Solution



https://dl.doubtnut.com/l/_iahplhGmgOVj
https://dl.doubtnut.com/l/_1KnuG6IZQF2O

112. Science Application: An atom consists of charged
particles called electrons and protons. Each proton has
a charge of +1 and each electron has a charge of -1.
Remember number of electrons is equal to number of
protons, while answering these questions:

What will be the charge on an atom if it loses an

electron?

° Watch Video Solution

113. Science Application: An atom consists of charged
particles called electrons and protons. Each proton has
a charge of +1 and each electron has a charge of -1.

Remember number of electrons is equal to number of


https://dl.doubtnut.com/l/_8xbH8xoaY7cW
https://dl.doubtnut.com/l/_rHnfdiYcn71F

protons, while answering these questions:

What will be the charge on an atom if it gains an

electron?

° Watch Video Solution

114. An atom changes to a charged particle called ion if
it loses or gains electrons. The charge on an ion is the
charge on electrons plus charge on protons. Now, write

the missing information in the table given below:

Name of [on

Proton Charge

Electron Charge

Ion Charge

Fryedroxicde 1on

8]

1

Sodtimm 1on

+11

+|

Aluminiim 1on

+13

-1

Oxtede 1on

+8

~10

o Watch Video Solution



https://dl.doubtnut.com/l/_rHnfdiYcn71F
https://dl.doubtnut.com/l/_mARKpcWufDbb

115. Social Studies Application: Remembering that 1AD
came immediately after 1BC, while solving these
problems take 1BC as -1 and 1AD as +1

The Greeco-Roman era, when Greece and Rome ruled
Egypt started in the year 330 BC and ended in the year

395 AD. How long did this era last?

o Watch Video Solution

116. Social Studies Application: Remembering that 1AD
came immediately after 1BC, while solving these
problems take 1BC as -1 and 1AD as +1

Bhaskaracharya was born in the year 1114 AD and died in

the year 1185 AD. What was his age when he died?


https://dl.doubtnut.com/l/_YvlTZ5PFIcV5
https://dl.doubtnut.com/l/_GO8sGpSMpLxJ

o Watch Video Solution

117. Social Studies Application: Remembering that 1AD
came immediately after 1BC, while solving these
problems take 1BC as -1 and 1AD as +1

Turks ruled Egypt in the year 1517 AD and Queen Nefertis
ruled Egypt about 2900 years before the Turks ruled. In

what year did she rule?

o Watch Video Solution

118. Social Studies Application: Remembering that 1AD
came immediately after 1BC, while solving these

problems take 1BC as -1 and 1AD as +1


https://dl.doubtnut.com/l/_GO8sGpSMpLxJ
https://dl.doubtnut.com/l/_cuq5CJQltCO6
https://dl.doubtnut.com/l/_OfSzxiwDygi8

Greek mathematician Archimedes lived between 287 BC
and 212 BC and Aristotle lived between 380 BC and 322

BC. Who lived during an earlier period?

° Watch Video Solution

119. The table shows the lowest recorded temperatures
for each continent. Write the continents in order from

the lowest recorded temperature to the highest


https://dl.doubtnut.com/l/_OfSzxiwDygi8
https://dl.doubtnut.com/l/_FnNTWZ1saXHA

recorded temperature.

The Lowest Recorded Temperatures
Continent Temperature
(in Fahrenheit)
Alrica 1"
Anbaretlen | Ae
Asla L
Australia 2 4
Bairops e
MNorth Ameriea -8
Bonth Aanerien -2

° Watch Video Solution

120. Write a pair of integers whose product is -12 and
there lies seven integers between them (excluding the

given integers).

o Watch Video Solution



https://dl.doubtnut.com/l/_FnNTWZ1saXHA
https://dl.doubtnut.com/l/_TZmsM8hsjG3A

121. From given integers in Column | match an integer of

Column Il so that their product lies between -19 and -6:

ColumnI Column II
-5 1

6 —1

-7 3

8 —2

° Watch Video Solution

122. Write a pair of integers whose product is - 36 and

whose difference is 15.

° Watch Video Solution



https://dl.doubtnut.com/l/_bLAxtZu3hE9N
https://dl.doubtnut.com/l/_mP1YK7z8cBsf

123. Match the following

[:1)
(h)
(]
(]
(2]

(2
(h)
(n

Column I
o]

|

[~ (-1
ax-1)

o =10

(-a)+ b

0

o+ (1)

il

Column IT
i Additive inverse of o
() Adddditive dentlity
() Multiplicative dentity
v a<(-Hh
vl a=h
v} «
i) - a
vy o
= 1

o Watch Video Solution

124. You have Rs 500 in your savings account at the

beginning of the month. The record below shows all of

your transactions during the month. How much money


https://dl.doubtnut.com/l/_szPhwAK1YhQl
https://dl.doubtnut.com/l/_o8DjTFS2UC7R

is in your account after these transactions?

Cheque No. Date | Tranmsactlon Payment Deposit
Description

A2 40 Jal Board 120 T 200

ATH168 120 e prorsit

AHA TR EASO LIC Trelia T A40 F 150

HOTALT 2079 1 Deposit

o Watch Video Solution

125. Write a positive integer and a negative integer

whose sum is a negative integer.

o Watch Video Solution

126. Write a positive integer and a negative integer

whose sum is a positive integer.



https://dl.doubtnut.com/l/_o8DjTFS2UC7R
https://dl.doubtnut.com/l/_b7hZ4kMulv7U
https://dl.doubtnut.com/l/_vImVEj7WJPVu

l o Watch Video Solution

127. Write a positive integer and a negative integer

whose difference is a negative integer.

o Watch Video Solution

128. Write a positive integer and a negative integer

whose difference is a positive integer.

° Watch Video Solution

129. Write two integers which are smaller than - 5 but

their difference is - 5.


https://dl.doubtnut.com/l/_vImVEj7WJPVu
https://dl.doubtnut.com/l/_5cJ8mL7mPGf0
https://dl.doubtnut.com/l/_W0hRe4FOym9f
https://dl.doubtnut.com/l/_XPPrHzm8w6rC

° Watch Video Solution

130. Write two integers which are greater than - 10 but

their sum is smaller than - 10.

° Watch Video Solution

131. Write two integers which are greater than - 4 but

their difference is smaller than - 4

o Watch Video Solution



https://dl.doubtnut.com/l/_XPPrHzm8w6rC
https://dl.doubtnut.com/l/_hvZ2gtCQAN3N
https://dl.doubtnut.com/l/_vCgmDU2rTwmS

132. Write two integers which are smaller than - 6 but

their difference is greater than - 6.

o Watch Video Solution

133. Write two negative integers whose difference is 7.

o Watch Video Solution

134. Write two integers such that one is smaller than -
11, and other is greater than -11 but their difference is -

1.

° Watch Video Solution



https://dl.doubtnut.com/l/_gnwWJJbLQDXi
https://dl.doubtnut.com/l/_CO7rdtqYJY4E
https://dl.doubtnut.com/l/_qH2xYp2XyQif

135. Write two integers whose product is smaller than

both the integers.

o Watch Video Solution

136. Write two integers whose product is greater than

both the integers.

o Watch Video Solution

137.What’s the Error? Ramu evaluated the expression -7
— (-3) and came up with the answer -10. What did Ramu

do wrong?


https://dl.doubtnut.com/l/_qH2xYp2XyQif
https://dl.doubtnut.com/l/_omILIPxOSPUM
https://dl.doubtnut.com/l/_CHoGtm87uUMu
https://dl.doubtnut.com/l/_hdBnDzR1JhGq

° Watch Video Solution

138. What’s the Error? Reeta evaluated -4 + d for d = -6
and gave an answer of 2. What might Reeta have done

wrong?

o Watch Video Solution

139. The table given below shows the elevations relative
to sea level of four locations.

Taking sea level as zero, answer the following questions:


https://dl.doubtnut.com/l/_hdBnDzR1JhGq
https://dl.doubtnut.com/l/_JRTLVM6yTP07
https://dl.doubtnut.com/l/_PCUhf5lwcQOR

Location Elevation (ln m)
A . | Ki)
H [ | €300 )
( ~-5bh
I ]I R0l

Which location is closest to sea level?

° Watch Video Solution

140. The table given below shows the elevations relative

to sea level of four locations.

Taking sea level as zero, answer the following questions:


https://dl.doubtnut.com/l/_PCUhf5lwcQOR
https://dl.doubtnut.com/l/_Nrpmue3ISKOg

Location Elevation (in m)

A | H4)

I [#300}

Which location is farthest from sea level?

o Watch Video Solution

141. The table given below shows the elevations relative

to sea level of four locations.

Taking sea level as zero, answer the following questions:


https://dl.doubtnut.com/l/_Nrpmue3ISKOg
https://dl.doubtnut.com/l/_FsN5l0WAbJF3

Location Elevation (in m)
A -180
B 1600
C -55
] 3200

Arrange the locations from the least to the greatest

elevation.

° Watch Video Solution

142. You are at an elevation 380 m above sea level as you
start a motor ride. During the ride, your elevation
changes by the following metres: 540 m, -268 m, 116 m,
-152 m, 490 m, -844 m, 94 m. What is your elevation

relative to the sea level at the end of the ride?

I o WMilabkl .\ daa Ol



https://dl.doubtnut.com/l/_FsN5l0WAbJF3
https://dl.doubtnut.com/l/_NNvDE43IurNS

yrvdactlull VIUGTUY JUIULIVIT

143. Evaluate the following, using distributive property.

—39 x 99

o Watch Video Solution

144. Evaluate the following, using distributive property.

(—85) x 43 + 43 x 9 — 15)

o Watch Video Solution

145. Evaluate the following, using distributive property.

53 x (—9) — ( — 109) x 53



https://dl.doubtnut.com/l/_NNvDE43IurNS
https://dl.doubtnut.com/l/_hJb2MYmlgaVP
https://dl.doubtnut.com/l/_UWMp0kb3mjGf
https://dl.doubtnut.com/l/_QPHClkrmlvG2

I ° Watch Video Solution

146. Evaluate the following, using distributive property.

68 x (—17) + ( —68) x 3

° Watch Video Solution

147.1f * is an operation such that for integers a and b
we have
axb=axb+ (axa+bxbd)

then find ( — 3) x ( — 5)

o Watch Video Solution



https://dl.doubtnut.com/l/_QPHClkrmlvG2
https://dl.doubtnut.com/l/_JAJosiIA0Vbj
https://dl.doubtnut.com/l/_v4oE377TMUHk
https://dl.doubtnut.com/l/_Q3yVe72v7sMh

148. If x is an operation such that for integers a and b
we have
axb=axb+ (axa+bxbd)

then find ( — 6) * 2

° Watch Video Solution

149. If A is an operation such that for integers a and b
we have

aAb=axa—2Xaxb+bxbd

then find (i) 4A( — 3)

(i) (—7A(-1)

o Watch Video Solution



https://dl.doubtnut.com/l/_Q3yVe72v7sMh
https://dl.doubtnut.com/l/_vji6j0W7I5rk
https://dl.doubtnut.com/l/_U3SdVqQXLGd7

150. Below u, v, w and x represent different integers,
where u = -4 and = # 1. By using following equations,
find each of the values:

U Xv=1uU

° Watch Video Solution

151. Height of a place A is 1800 m above sea level.

Another place B is 700 m below sea level. What is the


https://dl.doubtnut.com/l/_U3SdVqQXLGd7
https://dl.doubtnut.com/l/_AFpXncCDSQDK

difference between the levels of these two places?

o Watch Video Solution

152. The given table shows the freezing points in OF of
different gases at sea level. Convert each of these into
OC to the nearest integral value using the relation and

complete the table,.

o= Sr-m
Gas Freezing Polnt at Freezing Point at
Sea Level [F) Sea Level ['C)

Hyelrogen 445
Kyt 251
{ }:-'.I!,'p;rrl. MTHE]
Helum 458
Argon M

° Watch Video Solution



https://dl.doubtnut.com/l/_AFpXncCDSQDK
https://dl.doubtnut.com/l/_td5SY6Ug8byO
https://dl.doubtnut.com/l/_q6SP2hsZpf3X

153. Sana and Fatima participated in an apple race. The
race was conducted in 6 parts. In the first part, Sana won
by 10 seconds. In the second part she lost by 1 minute,
then won by 20 seconds in the third part and lost by 25
seconds in the fourth part, she lost by 37 seconds in the
fifth part and won by 12 seconds in the last part. Who

won the race finally?

° Watch Video Solution

154. A green grocer had a profit of RS 47 on Monday, a
loss of Rs 12 on Tuesday and loss of Rs 8 on Wednesday.

Find his net profit or loss in 3 days

° Watch Video Solution



https://dl.doubtnut.com/l/_q6SP2hsZpf3X
https://dl.doubtnut.com/l/_TY5TY3WTUl55

155. In a test, +3 marks are given for every correct
answer and -1 mark are given for every incorrect answer.
Sona attempted all the questions and scored +20 marks
though she got 10 correct answers.

How many incorrect answers has she attempted?

° Watch Video Solution

156. In a test, +3 marks are given for every correct
answer and -1 mark are given for every incorrect answer.
Sona attempted all the questions and scored +20 marks
though she got 10 correct answers.

How many questions were given in the test?


https://dl.doubtnut.com/l/_TY5TY3WTUl55
https://dl.doubtnut.com/l/_UlSxtk6jbhJN
https://dl.doubtnut.com/l/_YWlSitndA4uM

o Watch Video Solution

157. In a true-false test containing 50 questions, a
student is to be awarded 2 marks for every correct
answer and -2 for every incorrect answer and O for not
supplying any answer. If Yash secured 94 marks in a test,
what are the possibilities of his marking correct or

wrong answer?

o Watch Video Solution

158. A multistorey building has 25 floors above the
ground level each of height 5m. It also has 3 floors in

the basement each of height 5m. A lift in building moves


https://dl.doubtnut.com/l/_YWlSitndA4uM
https://dl.doubtnut.com/l/_sffWRjrbMUWL
https://dl.doubtnut.com/l/_CtkkRsJFryY7

at a rate of Im/s. If a man starts from 50m above the
ground, how long will it take him to reach at 2nd floor of

basement?

o Watch Video Solution

159. Taking today as zero on the number line, if the day
before yesterday is 17 January, what is the date 3 days

after tomorrow?

° Watch Video Solution

160. The highest point measured above sea level is the

summit of Mt. Everest which is 8,848m above sea level


https://dl.doubtnut.com/l/_CtkkRsJFryY7
https://dl.doubtnut.com/l/_DhWtDQ6rnfvP
https://dl.doubtnut.com/l/_F24mJoSSkc38

and the lowest point is challenger Deep at the bottom
of Mariana Trench which is 10911m below sea level. What

is the vertical distance between these two points?

° Watch Video Solution

D Application Puzzle

1. Fill in the blank space of the following magic square

so that the sum of the numbers in each row, each

column and each of the diagonals is - 6.


https://dl.doubtnut.com/l/_F24mJoSSkc38
https://dl.doubtnut.com/l/_dujdVVvGY4Hd

In this magic square, sum of the numbers in every row,

column and each of the diagonals is - 2. Fill in the blank:

=]

() 2

{3 i

- |

° Watch Video Solution



https://dl.doubtnut.com/l/_dujdVVvGY4Hd

2. ‘Equinoxes’ are the two days of the year when the sun
is directly above the earth’s equator, due to which the
days and nights are of nearly equal length everywhere
on the earth.

Find the name of the month of autumn equinox using
suitable properties of integers by solving the following

questions. Match your answer with the letter given in


https://dl.doubtnut.com/l/_dujdVVvGY4Hd
https://dl.doubtnut.com/l/_0BGAk9EQ3Roo

the table and fill it in the box provided in each question.

[a) =11 % (=2) = (=5 % [-4) % =5
(b} 189 = DE — [ 1 SEG)

L I B B S I B VA e
() 15 = (-

(e 143+ GO0 257 + 400

[ o+ [-12)

@) 12h=ua |25

I [ IR o I S ® [-1]

() 20 1mes
AvA-4+d— -4

1

1 O 000000

21 trmes

I I

1485 T

| 243 b

30 [

1 I

AN I3

(AR THEN I
(LY E

{ 4|

o Watch Video Solution

3. Fourth power of (-2) is



https://dl.doubtnut.com/l/_0BGAk9EQ3Roo
https://dl.doubtnut.com/l/_S2KcZie9B1zW

° Watch Video Solution

4.Find the value of 29 + 23z if4x + 13 = 2 — Tx

° Watch Video Solution

5. Use the integers -2, 4, -5, -12, 20, -25 and 50 just one

each in the wheel shown in Fig. 1.4 to make the product


https://dl.doubtnut.com/l/_S2KcZie9B1zW
https://dl.doubtnut.com/l/_7geAGHAirwXt
https://dl.doubtnut.com/l/_o3VXuTVL32yq

1200 along each line.

° Watch Video Solution

Think And Discuss

1. Compare the sums 10 + (-22) and -10 + 22.

o Watch Video Solution



https://dl.doubtnut.com/l/_o3VXuTVL32yq
https://dl.doubtnut.com/l/_bYGyctst5hPB

2. Compare the sums: 9 + (- 13) and -13 + 9.

o Watch Video Solution

3. Explain why 10 - (- 10) does not equal - 10 - 10

° Watch Video Solution

4.Describe the answer that you get when you subtract a

greater number from a lesser number

° Watch Video Solution



https://dl.doubtnut.com/l/_bYGyctst5hPB
https://dl.doubtnut.com/l/_uwKbv9IaSJ7h
https://dl.doubtnut.com/l/_pihtpGU777YK
https://dl.doubtnut.com/l/_cGEWWh4Mwx1c
https://dl.doubtnut.com/l/_BJxLIWPqAalx

5. List all possible multiplication and division statements
for the integers with 5, -5, 6, -6 and 30, -30.

For example, 5 x 6 = 30.

o Watch Video Solution

6. Compare the sign of the product of two negative
integers with the sign of the sum of two negative

integers.

o Watch Video Solution

7.Suppose the product of two integers is positive. What

do you know about the signs of the integers?


https://dl.doubtnut.com/l/_BJxLIWPqAalx
https://dl.doubtnut.com/l/_Wg8XzQy4XQmr
https://dl.doubtnut.com/l/_5eLp9tV3UNLh

° Watch Video Solution

8.1s it not true? If + is a friend and - is an enemy.

"Your friend’s friend is your friend."

° Watch Video Solution

9.1s it not true? If + is a friend and - is an enemy. "Your

friend’s enemy is your enemy".

° Watch Video Solution



https://dl.doubtnut.com/l/_5eLp9tV3UNLh
https://dl.doubtnut.com/l/_4QBZU6PsrODI
https://dl.doubtnut.com/l/_A8AkBqaN4ZfZ

10.Is it not true? If + is a friend and - is an enemy.

"Your enemy’s friend is your enemy".

o Watch Video Solution

11. Value of —45 — ( — 105) is equal to

o Watch Video Solution

12. A number that can negative, positive and zero is

called:

o Watch Video Solution



https://dl.doubtnut.com/l/_I2dqvjJyETIJ
https://dl.doubtnut.com/l/_clqHXE51Ezw5
https://dl.doubtnut.com/l/_tHBozCVJpMpq
https://dl.doubtnut.com/l/_8RvKmbsSh1f7

13. Explain whether -1, -4, and 5 are additive inverses.

° Watch Video Solution

Vocobulary

1. isthe of addition.

o Watch Video Solution

2. The expression 3z x 4 and 4x x 3 are equal by the

o Watch Video Solution



https://dl.doubtnut.com/l/_8RvKmbsSh1f7
https://dl.doubtnut.com/l/_ElUumdQFmRAN
https://dl.doubtnut.com/l/_GWEtFN7FvWR8

3. The expressions 1+ (2 + 3) and (1 + 2) + 3 are equal by

the

o Watch Video Solution

4. Multiplication and are opposite

operations.

° Watch Video Solution

5. and are commutative.

o Watch Video Solution



https://dl.doubtnut.com/l/_8YtsTjeSBnVL
https://dl.doubtnut.com/l/_HOP4YPR3PZdG
https://dl.doubtnut.com/l/_ecbzAI7l0NrY

